



Munyamadzi Safari hunting 2010

The pristine Munyamadzi Reserve is situated in the south Luangwa valley, an extension of the famous Rift Valley. Renowned for its unspoiled beauty and varied habitats the Luangwa valley supports one of Africa's richest concentrations of wildlife and birds. The geology is varied and embraces both escarpments and valley floor. Dry sandy riverbeds, streams and lagoons create ideal habitats for the hunting of big game. Elevation runs from 1200meters (4300ft.) in the hills to 450meters (1350 ft.) at river level.

Game Species

The Luangwa valley is famous for its population of Lion and Leopard. Hippo and crocodile frequent the rivers and lagoons. The bush bordering the river offers excellent opportunities for walk and stalk and supports a host of lesser species such as Waterbuck, Chobe Bushbuck and Puku. The Mopane forest and undulating hills are home to Buffalo, Roan, Lichtenstein's hartebeest, Kudu and Sharp's Grysbok.

Accommodation

The main camp is situated on the east bank of the Luangwa River and includes comfortable permanent chalets with en-suite bathroom. Power is supplied by both solar and generator. Meals are enjoyed in a central dining room with magnificent views of the river and surrounding countryside.

Classic Hunting Safaris

Safaris are normally conducted following the traditional style of walk and stalk and although we make use of fully equipped safari vehicles we adhere to the old hunting traditions, without compromising success. Safaris are often tailor made to suit individual needs. The Luangwa riverbank offers some of the finest hunting on foot found anywhere in Africa



2010 Daily Rates

Safari	Basis	Daily Rates	Total Cost
18 Day Classic Lion	1x1	2,000	36,000
18 Day Classic Lion and Leopard	1x1	2,200	39,600
14 Day Classic Leopard	1x1	1,500	21,000
14 Day Classic Roan	1x1	1,500	21,000
10 Day Mini Plains Game	1x1	1,400	14,000
10 Day Mini Hippo and Crocodile	1x1	1,400	14,000

Included in Daily Rate	Excluded in Daily Rate
<ul style="list-style-type: none"> <input type="checkbox"/> All government license fees, concession fees, rifle permits <input type="checkbox"/> Fully licensed Professional Hunter with vehicle and qualified staff. <input type="checkbox"/> All inclusive accommodation, meals, beverages and laundry <input type="checkbox"/> Field treatment of trophies <input type="checkbox"/> Dip & Pack of trophies <input type="checkbox"/> Charter flight into hunting camp 	<ul style="list-style-type: none"> <input type="checkbox"/> Trophy fees – animals harvested or wounded. <input type="checkbox"/> Observers at \$300 a day. <input type="checkbox"/> Import tax on ammunition US\$100 <input type="checkbox"/> Visa on arrival <input type="checkbox"/> Hotel accommodation outside the hunting area. <input type="checkbox"/> Staff and Professional Hunter Gratuities

NOTE: Daily rates are inclusive of ALL Government fees, Charters and Dip and Pack

Trophy Fees 2010

Specie	Minimum Days	Fees
Baboon	7	120
Buffalo	7	3,000
Bushbuck Chobe	7	800
Crocodile	7	3,000
Bushpig	7	600
Duiker Common	7	550
Grysbok Sharp's	7	750
Hartebeest Lichtenstein's	7	1,600
Hippopotamus	7	3,000
Hyena	7	600
Impala	7	300
Klipspringer	7	1,200
Kudu	7	2,400
Leopard	14	4,000
Lion	21	7,000
Puku	7	800
Roan Antelope	14	6,000
Warthog	7	500
Waterbuck Common	7	1,600
Zebra	7	1,500

The Small print

A deposit of 50% of the total daily rate is required to confirm your booking. The balance is payable 70 days prior to commencement of the safari. No refund of the deposit will be made due to cancellation six months prior of contracted date, however the deposit maybe forwarded to the following year but this is dependant on our bookings. In all other instances the deposit will be refunded less 10% admin fee. Refunds will exclude agent's commissions. All charges are subject to change. Trophy charges are applicable to animals killed or wounded and lost. Any blood drawn will be counted as a wounded and lost animal. All payments must be made in cash or prior transfer. Under no circumstances will clients be allowed to hunt any species that can not be covered by available funds on safari unless arranged with the management prior to the safari. Munyamadzi holds the right to adjust any above quoted prices should the Government alter any rates towards the safari company.

What to Bring

Temperatures vary from 8 degrees Celsius (48 F) in the mornings to 34 Celsius (90F) during midday for June, July and August. However September, October and November is our hot season and daytime temperatures can rise to between 35 and 40 Celsius (110F).

During the months of June/July/August a light down jacket or fleece is recommended. Later in the season a light jacket might be required in the mornings. Care must be taken not to use safari clothes of a light color and grey or dark green is recommended. Long sleeve shirts and trousers will protect the hunter from the sun. A cap or floppy hat is

essential.

Note that Zambia is a malaria area. It is recommended that you take preventative medication prior to your arrival. Hepatitis A and B vaccines are also recommended but first check with your Physician. First Aid is on hand in camp but it is wise to bring your own requirements. Medical insurance is strongly advised.